Scholastic Dollars™ Catalog Order ID: 6257569	Pa		
Item 3D Artmarks Bookmarks Pack Item #744369	Quantity 1	Price \$34.99	Total \$34.99
3D Shapes Bookmarks Pack Item #745160	1	\$29.99	\$29.99
A Tale of Sorcery Item #740261	1	\$18.99	\$18.99
All Are Neighbors Item #750497	2	\$18.99	\$37.98
Aru Shah and the Tree of Wishes Item #696927	1	\$16.99	\$16.99
Baby-sitters Little Sister: Karen's Birthday (Baby-sitters Little Sister Graphic Novels) Item #718693	8	\$22.99	\$183.92
Battle With the Ultra Beast (Pokémon Graphic Novels) Item #862712	1	\$22.99	\$22.99
Be You! Item #857231	1	\$17.99	\$17.99
Because of You, John Lewis Item #718193	1	\$18.99	\$18.99
Bird and Squirrel on Ice Item #556318	3	\$8.99	\$26.97
Bright Dreams: The Brilliant Ideas of Nikola Tesla (Capstone Picture Book Biography) Item #750337	1	\$18.99	\$18.99
Captain America: The Ghost Army Item #731501	4	\$14.99	\$59.96
Cat Kid Comic Club: Collaborations Item #744223	6	\$24.99	\$149.94
Change Sings Item #733135	1	\$18.99	\$18.99

Scholastic Dollars [™] Catalog Order ID: 6257569 Item Dragon Masters: Eye of the Earthquake Dragon (Branches [™]) Item #826372		Page 3	
	Quantity 1	Price \$24.99	Total \$24.99
Eleanor Makes Her Mark Item #582612	1	\$18.99	\$18.99
Elon Musk: Tesla Founder and Titan of Tech (Gateway Biographies) Item #750435	1	\$31.99	\$31.99
Fantastic Beasts: The Crimes of Grindelwald Item #826389	1	\$24.99	\$24.99
Forest Animal Erasers Pack Item #745182	1	\$34.99	\$34.99
Free Shipping Subscription (Fall 2022-Spring 2023) Item #750956	1	\$200.00	\$200.00
G.O.A.T. Baseball Outfielders (Greatest of All Time Players) Item #749285	1	\$29.32	\$29.32
G.O.A.T. Baseball Shortstops (Greatest of All Time Players) Item #749287	1	\$29.32	\$29.32
G.O.A.T. Basketball Centers (Greatest of All Time Players) Item #749294	1	\$29.32	\$29.32
G.O.A.T. Basketball Point Guards (Greatest of All Time Players) Item #749295	1	\$29.32	\$29.32
G.O.A.T. Basketball Power Forwards (Greatest of All Time Players) Item #749296	1	\$29.32	\$29.32
G.O.A.T. Football Linebackers (Greatest of All Time Players) Item #749297	1	\$29.32	\$29.32
G.O.A.T. Football Quarterbacks (Greatest of All Time Players) Item #749298	1	\$29.32	\$29.32
G.O.A.T. Football Running Backs (Greatest of All Time Players) Item #749299	1	\$29.32	\$29.32

Scholastic Dollars™ Catalog Order ID: 6257569 Item G.O.A.T. Soccer Midfielders (Greatest of All Time Players) Item #749292			Page 4	
	Quantity 1	Price \$29.32	Total \$29.32	
Gamer and Smartphones Erasers Pack Item #698433	1	\$34.99	\$34.99	
Gotta Catch a What?! (Pokémon Graphic Novels) Item #739869	1	\$22.99	\$22.99	
Gumball Machine Erasers Pack Item #746340	1	\$29.99	\$29.99	
Happy Dreamer Item #586501	1	\$17.99	\$17.99	
Harriet Tubman: Fighter for Freedom! (Show Me History!) Item #737184	1	\$12.99	\$12.99	
Holding Her Own: The Exceptional Life of Jackie Ormes Item #830590	1	\$21.99	\$21.99	
How Do Dinosaurs Learn to Be Kind? Item #741066	1	\$18.99	\$18.99	
I Am Ruby Bridges Item #717144	1	\$18.99	\$18.99	
I Color Myself Different Item #733397	1	\$18.99	\$18.99	
I Need a Hug Item #829710	1	\$14.99	\$14.99	
If You Sailed on the Titanic Item #731714	1	\$22.99	\$22.99	
LCD Tablet Item #746175	10	\$14.99	\$149.90	
LEGO® DC Comics Super Heroes: 5-Minute Super Hero Stories Item #815946	1	\$12.99	\$12.99	

Item #750398

Scholastic Dollars™ Catalog Order ID: 6257569			Page 6
Item Popular MMOs Presents: The End of All the Things Item #752416	Quantity 1	Price \$21.99	Total \$21.99
Rebel of Fire & Flight Item #736247	1	\$19.99	\$19.99
Say Something! Item #586503	1	\$17.99	\$17.99
Simone Biles: Greatest of All Time (Gateway Biographies) Item #750451	1	\$31.99	\$31.99
The Baby-sitters Club: Mary Anne's Bad Luck Mystery Graphic Novel Item #861610	3	\$12.99	\$38.97
The Bad Seed Item #834666	3	\$6.99	\$20.97
The Captain Underpants Double-Crunchy Book O'Fun Item #738305	1	\$12.99	\$12.99
The Cool Bean Item #714871	3	\$6.99	\$20.97
The Couch Potato Item #741078	3	\$6.99	\$20.97
The Good Egg Item #860778	3	\$6.99	\$20.97
The Party Diaries: Awesome Orange Birthday (Branches™) Item #735688	1	\$24.99	\$24.99
The Return of Thelma the Unicorn Item #860889	1	\$14.99	\$14.99
The Smallest Spot of a Dot Item #755069	1	\$18.99	\$18.99
The Smart Cookie Item #732339	1	\$18.99	\$18.99

Scholastic Dollars™ Catalog Order ID: 6257569			Page 7
Item	Quantity	Price	Total
The Sour Grape Item #746821	1	\$18.99	\$18.99
There Was An Old Astronaut Who Swallowed the Moon! Item #832507	1	\$8.99	\$8.99
There Was an Old Lady Who Swallowed a Birthday Cake! (There Was an Old Lady) Item #733823	1	\$22.99	\$22.99
There Was an Old Lady Who Swallowed a Cactus! (There Was an Old Lady) Item #733824	1	\$22.99	\$22.99
Three Keys Item #712477	3	\$7.99	\$23.97
We Are Here Item #716892	1	\$18.99	\$18.99
Words on Fire Item #827547	1	\$17.99	\$17.99
You Are a Star, Ruth Bader Ginsburg Item #719420	1	\$19.99	\$19.99

\$3,171.76

Order Total: